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Terry J. Klokeid peagss

Intreduction

The language of the Nitinaht belongs to the Southern branch
of the Wakasnan family of Native Canadian languages, and is
putcally sntelligible with the languaze of the Pacheenaht. The
mozsland of the Nitinaht ceaters on Laxe Nitinaht and the adjacent
perzion of the West Coast of Vancouver Island. Today, much of
Nitinaht territory has been absorbed into Pacific Rim Nationmail
ark; the rest is largely Crewn land, in large measure given over
to exploitation by logzing corpocrations, Most Nitinaht people
live at Baliats’adt, or Malachan, designated by the Federal
Govern=ent as Indian Reserve number 12.

vt

¥ote on Nitinaht Traascriptions

I have employed here the orthography which I suggested for
Nitinaht in Klokeid (1975a).

EZnclitics are written separately, and 1 have written the
lazgieaze, not strictly phoanetically, but somewhat abstractly. If
nothing else, this makes for relative transparency im the morpho~
lriizzl make=up of worcés, and so will help the reader who does
not wnow Nitineht. For example, I write the sequence of bowate
'lexr’ plus “ug ‘the' (an enciitic) as buwatc aq 'the deer’; wWiioa

phecaeticzily, the processes of syncope and glottal coalescence
reluce it to sczething wore like bowtc'aq. Motinag
while the above is a relatively straight-forward case, 1 ruz 1O
think, in retrospect, that I have nct yet achieved a fully
satisfactory level of abstractress for fluctuations between more Aon1in
phonetic and more abstract representations im the present work.
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1. Grammatical Relations: case, word order, and encliticizaclca
1.1 Syntactic framework
1 assume here, following the work of David M. Perlmutter azd

Paul M. Postal (forthcoming), that a sentence is most appropriaztely

s

viewed in terms of a network of relations. Thus, in the Englis
gentence (la), the network of relations comsists in part of the
statements of (lb), represented formally im {le}.
1. (a) John made a canoe withf#naxe.;
(b) John is subject(l)- .
John 1s agent (i.e. the oﬁe'cartying out the actioa)}.
made is verb.

canoe is patient (i.2. that most affectdd ‘byithe

action). : ETES
canoe 1s direct object{2) = Wsa 1o

axe is instrucent (i.e. that used vy tAe Zgent to
effect the action).

() ' mace Foy 1o

s P
AG PAT NSTRUM
V&
John canoe e

a‘i:;;;@
The Nitinaht sentence (23) essentially corresponds to (la),
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sad reflects the network of relat 2b), cf. (1b). formal
& metwork of relations (2b), (1b). The fo These linear precedence (LP) relations can be added to the networks

(1a), (2a), as in (3):
3. (o)

repres‘n:aim (2c) may be compared with (lc¢).
2. (3) Oxwil ibt ?a {70xw) John tc'a;;ats Bxwaw’El hisiy'k.
() Joha is subject(t).
goda fs agent.
Qokwil is verb,

te’apats 18 direct. object(z)_- s e |

tc’apats is patient. Lo ) - o L S s L i

hisiy’k is instrument. { ' ® e Tokwil

{c) ~ P9kuTl INSTRUM

John tc’apats\/hisiy’k
N7 Lp '

The linear pregedgncé_rela;ions shown. in (3a, b) allov} us

. John te’apats hisiy’k . \

The conceptusl relations -agent, patient, instrument~ de-

to construct t,he!ulx:imai:e' word orders:
scribe the role of the nominal (or, better, its refpfant) in the S ’

John made .... canoe oev axe
action or stste. Thus conceptual relations directly to the meaning, )

OkwIl ... John tc’apate ... hisfy'k.
or sespntics, of the gentence. The syntactic relations -~ subject, .

) These word order statements are trye regardless of the .
direct object — do mot interact directly with semantics, but ) ) .

) conceptual relation held by subject and direct object. In (4a, b,
rather have purely syntactic consequences. That is, the syatax, ‘

the nominals are John and canoe/tc’apats as before, but their com-
or sentence pattern, nakes reference to these syntactic relatiouns.

ceptual relations differ drastically from (1, 2). Jchn ir {4a, b)

For example, English word order is: _
) . : : capnot be agent, because there i{s no actfoan carried out: instead,
Subject  Verdb Direct Object (Other); )
) v T o there is an experieace, that of seeing, and Jobn is the Expericucer.
Sitinght word order is:’

Similarly , canoe ia (4a) and tc’apats im (4b) are not pacients

" .Verd ' Subject Direct Object  (other).
{they are unaffected): rather, each functions as the sticulus of

3
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the experience described by these sentences.
4. (a) John sees the canoe
Exp stim
1 2
{b) DatcB?al ?a (%oxw) John ?Gyoqw tc’apats ?aq.
Exp Stim
1 2

Sevgithelgsa, John, as subject, precedes the verb in English and

imzediately follows it in Nitinant; canoe and tc’apats, as direct

objects, immediately follow the verb in English and the subject -
in Nitipaht. Hence, the networks for (4a, b) are:.

5. (a) . see

2 LP,

() . datcg’al

v &

s
John tc’apats

LP

The relations Agent, Experiencer, and Subject (1); Patient, Stimulus,
ax_xd Direct Ojbect (2) are distinct, but they are nev;tthelesa
interrelated. In general:

. Agent ‘isv éubject (ﬁrany language)

Patient is Direct Ojbect (in any language)

— - - - -

Experiencer is Subject (in any language)
Stimulus 1§ Direct Object (ii\ any language)
And, in English: 3
Subject precedes Verb
Verb precedes Direct Ojbect
While in Nitinaht:
Verb precedes Subject
Subject precedes Direct Object.
‘A‘nother kind of relation is the a?‘;ghoric reia:iqﬁ. In
tﬁa, b), twé “persons are im’mlved‘in the acti&n, as s';:own by the

subject Bill and the benefactive John (thg latter marked by for

in English and ?Gtsaxad in Nitinaht). In contrast, sentences (7a,

b) involve only a single person in the acti%n. _B_i_l_l_.‘
6. (a) Bill made ka cance for John. )
(b) Oxwil ibt %a Biil tc'ba}patsﬁﬁtlsargzadk.lchn.
7. (a) Bill made a canoe for hi:;self.
(b) OkwIi ibt %a Bill tc’apats ?Ckwisaxad.
When two grammatical relations in a single sentence av
borne by a single nominal, then a so-called rcflexive_’ pronoun, e.g.

himgelf, comes in to take over the lower ranking of the two ze~

lations in English; while in Nitinaht, -k(w)- is attacted to the
preposition mrkiﬁé the lower relation. The Engi#h reflexive
ptonoun'himself and the «kw;- of Nitinaht thus reflect the avaphoric
relation between subject and »bexyyxeanct:{vc in the ;x‘anple;sl (?g, h)".v
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We have looked briefly at some syntactic relations (e.g. sub-
jece, dire;t.ohject). some conceptual relations (agent, patient,
experisncer, stinulus, benefactive, etc.), and the anaphoric re-
lation. This synopsis of Nitinaht syntax examines these relations,

and- others, in greater detail.

1. 2 Case

The various syntactic relations are marked by prepositions,
in both English and Nitinaht. In English, subjcct (1) and direct
object (2) remain prepoaitionltés, while indirect object (3) and,
generally, all other nominals take prepositions. In Nitinaht, each
nominal is assigned a preposition. ‘
Subject and direct object

A subject takes the preposition %oxw "Nominative' and a
direct object may take the fpreposir.ion 28yoqw 'Accusative', as in
sentence 8. (The formatives fbt 'Past’, 7a 'Declarative' are dis-
cussed elsewhere.) .

8. Ts'oqueitl ibt 7a Poxw John 7Syoqw Bill.

v ¥ 1 AC 2
"John hir Bi1l' '
1 v 2
" Sentence (B) as it stands is a little unusual, in that the

noninative pre;ics:ltion is usually deleted. ‘lknce. senteﬁce (9)‘
"is a yanphrase of (8) — they both anert that Jobn hit Bfll —

m mtence {9 u a more usual fom.

-~
)

9. Ts'oqwcitl ibt ?a John ?3yoqw Bill.
v 1 : 2

Moreover, in a short sentence containing only one or two
nouns, the preposition assignec to the second (or only ) one is
typically postposed after that nousn, as with the accusative in (10).

10. Ts’oqwcitl ibt 7a John Bill ?Syoqw.

v 1 2

So the gentences (8-10) are all grammatical and all assert
the same thing, but the form of (10) is the most common im convere-
ation.

Hl;ile the nominative preposition 1s always assignable ‘to the
subject, some verbs do not permit the assigument of the accusative
Byogw to the dil.;ect object. Instead, they take a rezistraticn
prefix ?o-. That is, the prefix Zo- on a verb registers the presence
of a prepositionless direct object. '

One verb showing this prefix is ?okwil 'make, b\;ild'. exespli~

fied in (11). The direct object in {11) is ba%as ‘hLouse’

11. Okwil ibt ?a John ba?as.

1 1 2
*John built a house'
1 v 2

{The initial 2o~ of the case-marking prepositions 2Zyocw, 2Bwwiw’El,
etc., is the same morpheme.) Many other verbs do not govern. a de-
pendent in the accusative Zoyoqw, but in a different prepositioa.

‘ ‘ (s
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11. (a) Ha%ckw s ?o%ckwis ha%ob . Other nominals are marked by preposition according to their
v 1 fish conceptual relation. The benefactive preposition is Zotsaxed 'for'
*I eat fish' . (12). The instrumental preposition Is ?Bxwaw’al-‘with' (13)
1 v Location is marked with ?iyax 'in'; source with Ziyaxtageitl "from';
For exazple, with the verbs ha’okw 'eat' and dagcitl 'drink' the and destindtion with owiy %o' (14).
iten consumed takes the preposition ?o0?ckwis. The verb may be 12. SMl ibt s tc’apats ?Ttsaxad John.
ozitted. v 1 2 BEN
(b) O%kwis s tc’a’ak. ‘ 'I made a canoe for Johmn. °
1  water . 1 v 2 BEN
'I (drink) water' ) . v 13, Okwil ibt ?a John tc’apats ?Bxwaw'Xl tc'axay’k.
1 : v 1 2 . IN

'John made a canoce with an adze'
1 v 2 IN
14. Okwil ibt %a John ba%as ?iyax PatcIda.
v 1 2 e
‘John built a house in Pacheena
1 v 2 ic
Many time expressions take the case—mérkin.g pfeposit;on 2074 lit.
‘when'.
14. (b) DwTl ibt ”a John ba%as ?5bay ?o0yi.
v 1 2 ™
‘John built a house yesterday'
1 v 2 ™

. . An adjective or quantifier optionally but prefeiably attaches

9 10



to thé froat of the preposition, i.e. it incorporates into the
preposition, replacing the registration prefix ?o-.
15. OkuXl ibt %a John %atl ba%as.
-9 : 1 two 2
At2akvIl ibt ?a John ba®as.
two/V 1 2
*Joha built two house(s)'
1 v 2
Question and relative morphemes obligatorily incorporate.
A soua incorporates only rarely in Ntinaht, and pronouns apparently
rever do so. (Thus this language differs significantly from the
related language to the north with respect to incorporation.) See

Chapter Six for more on incorporation.

1.3  Rord order

Lirear precedence relations in Nitinaht are determined by
syntactic relations. .

_ The verb precedes all its dependents, i.e. Nitinaht is a

‘v!ri-initi‘l; language. /

The dependents of a verb come in the follouigxg order:

subject direct object others.

The following sentences illustrate these linear precedence
relations.

lﬁ. () Ts‘?qwcin ot ?s é?o,sw) ba?itlgats %ag ?Syoqw

a v B 1 AC
1

(b)

(o)

b
n

xZda?ak ?aq.
2
‘The boy hit the woman®
1 v 2
Ts’oqwecitl ibt ?a (%oxw) x3da%ak ?aq “Syoqw
v \ NX 1 AC
ba?itlqats ?aq.
.2
‘The woman hit the boy'
1 v 2
DatcIl ?a (%oxw) xada?ak %aq ?Syoqw ba?itlgats ag.
v NM 1 AC 2
'The woman watches the boy'

1 v 2

(d) goqusa:"ap ?a (oxw) ba?itlqats %ag ?Sycqw todis %aq.

v o 1 AC 2
‘The boy throws out the garbage'

1 v 2

(e) Babuyak %a (%oxw) xEda%ak ?aq ?iyax bokwil ?ag

'The woman works in the store'

1 v c

A noun is preceded by its free dependents (modifiers), (17).
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17. v(a) A‘l‘s'axciu 7%%is ?al 7Tyoqw "‘I),; bowatic ?aq.
V  Futurel AC ADJ 2 the
'They viil ai;oai- the dig deer'
1y A 2
(b). Datceitl k"l yTlga g37as.
Vv  IMPER this 2
‘Look at this man'
v 2
4Bound dependents of nominals include both enclitics, e.g.
2ag '"The' fa (17a) (sée 1.4), and incorporated dependents (see

chapter 4).

1.4 Eacliticization

A nuzber. of formatives in previous examples have not been
studied closely as yet: ibt 'Past', ?a 'Declarative’, s 'I', %aq
‘the', ?3%is 'Future', ?al 'they-Declarative', ?i 'Imperative‘.
There are a couple of respects in which the group of formatives
including these stands apart from others.

Firstly, their positfon in the sentence is distinctive. This
is brought out by contrasting the position of the time expression
ibt 'Past temse! and ?abay ?oyi 'yesterday' in (18). While the
latter expression comes in the usual position for time expressions,
i.e. following the direct object, the past tense formative ibt comes

izmediately after.ghe first word in the sentence, the verh.

13

18. Oxwil ibt 7a John tc’apats 2Ebay ‘?oyi.
v 127 Time
" 'John*made a canoe yesterday' *

" "Secondly, the group of formatives including ibt are'not in-
dependent words, phonetically speaking. They are enclitics, that
is, they must be phonetically linked to the preceding formative:
thus, the sequence of verb ?5kwil and encltics ibt %3 in (18) are
pronounced as one word: ?8kwIlibt’a.

The definite determiner ?aq 'the' 1s an enclitic. Thus the
sequenceé '6f noun’ t¢’apats "canoe' and deterniner Pag in (19) is
pronounced as one word: 'tc’apts’ag.

19. Okwil ?a John tc’apats ?aq.

v 1 2 the
“*John is making the canoce®
The categories which must undergo encliticization ianclcie:

?3%is 'Future');
tense (e.g. ibt 'Past'/ modals (e.g. ?a ‘Declarative ?{ 'Imperaztive');

subject and direct object pronouns (e.g. 5 'I, me'); and many others.

‘'~ Wackernagel's Law RS TR

In the examples so far, the enclitics have attached to the
governing word: tense and modal to Verb, as ... ts'ogwcitl ib: Pag
(bhoy the) in the same sentence. But the general statement for the
positioning of enclitics has to be somewhat different., The true
generalization emerges clearly when we ‘study nominals with wodifiers.

In ‘the ‘three sentences (20a, b, ¢), the verb is t1’itcizl ‘shooc®

and the direct object is bowate 'deex'. Im (20b, ¢), the direct

1
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object governs. sone further word: the adjective 73x in (20L) and
the quantifier %atl ‘two’ in (20c). The governing mominal and its
dependent fora the sequences 7Ix bowatc and ?atl bowate in (20b, ¢),
respectively: - the sequence of a nominal and. its dependents can be
 referred to as a Coastituent.
20. (a) T1%itcitl ibt %a John bowstc. 5yoqw.
v Past Decl 1 2 AC
‘Joha shot a deer’
1v 2
(b) T2?steitl ibt ?a Joha Tx bowatc Wyogw.. .
_ big 2
*John shot s big deer’
1 2
{c) T1’itcitl ibt ?a John ?atl bowatc ?ayogqw.
two 2
SJohn: shot two deer’
2
Waen the determiner eaclitic %ag ‘the' is added to the direct
objects of (20a, b, c), then we get (2la, b, c), respectively:
21. (a) T1'itcicl idt ?a John dowatc ?ag qyoqw. .
v 1 2 the AC;
‘John shot the deer'.
1 v 2
€®) T1'itcitl ibt. ?%a Joha ?Xx %ag bowatc Gyoqu.
big the 2 A
‘Joha shot th bt. deer'

15
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(c) Tl’itci;l ibt ?a Jphn ’atl ?aq bowatc “Syoqw.
’ - ’ two the 2‘
'John shor. the two deer' ,
In (21a), the deteminer Zag encliticizes to the governing
nominal: bowatc ?ag 'the deez' But in (21\:), the deterziner lac

encliticizes instead to an adjective depenaent of the direct object

nominal: 2%x 7aq bowatc ‘the big deer’. The generalization must
be that the determiner enclitfcizes to the first word of the
COnstituent, whether it: is the governing nominal (21a) or a de-
pendent o£ it (zm, Sentence (21:) verifies this scat.o.._ant- here

the direct object bowatc governs the quantxfier ?atl ':uo ané the

determiner ?ag enclticizes to the first word in the resulting
Constituent: ?atl ?ag bowatc 'the two deer'.

The case-marking preposirion does not form a part of the
‘Constituent relevant to.the encliticization of ?ag, so the detcrainer
never eseiteicizes to it when it precedes the nozinal:’

'22. (&) T1'itcitl ibt ?a John ?3yogw bowate Zag. -

O AC 2 ‘the -’
*John shot the deer'
(b) T1’itcitl ibt ?a John ?Byoqw ?Tx ?&q bowatc.
. AC big the 2
*Jofin shot the big deer!

Encliticization like this is not anique to Nitiraht. A

linguist who cescribed the placing of encltics in ‘second position'

in Indo-Buropean has had the relevant Principle named after him:

16
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23. Wackernagel's Principle

Attach enclitics to the first word of the Constituent.
Wackernagel's Principle applies to all enclitics in Nitimaht.
Thus, the enclitics associated with the verb of the sentence attach
to the first word of the sentence, in (24), the verb itself. The
sentence enclitics exemplified here are: Unknown xi-(f)c 'maybe,
1 think that'; Ixperative ?i; s 'I'; ?atl "now, then'; Complement-
izer %ag; Complementizer gwiy (or goy) 'when'; (i)bt 'Past®; ik
‘Usitative®.
24. (a) Oxwsa?ap xic John cotc’as ?aq.
v 1 2
YMaybe John.chopped down the tree'
1 v 2
'John must have chopped down the tree'
1 v 2
(b) Dagcitl ?i tc'a?ak’’
vV IMPER 2
'Drink water!'
v 2
(c) Walcitl ?atl s, hay3 ?atl ?aq s %oyi babuyak.
v than 1 V 1
'I went home, when I finished work®

1v 1 v

17
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(d) Xow'a‘ ?atl go y s da"ﬁkw;;
:h”en 1 v |
'1 used to accoupany (him) then; .
(e) Hixwd bt s ik,
v l;AST 1 letativa‘
'T used to work hard'
1 v

Pronominal enclitics

Pronouns in Nitinaht can appear as free nor‘inals; but pro-
nominal subjects and f.iirect objects, encliticize to the firss word
in sthe sentence. (Under limited circumstances, pronouas encliti-
cize in different ways not described here.) 'X"pe paonological forzs
for free and enclitic pronouns show similarities but there are
-:_lgniiﬁ;nt differences that cannot be predicted.

25, (a) P’osdk P s.

v 1
‘I'n tired'
(b) P’osak P 1d.
v 1
"We're tired'
(c) P’osik ?a s.
v 1
You're tirled'
(d) P’ossk a sow’itc.
v 1
“You {plural) are tired'
18
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Just as there is no ffée third person pronoun, so is there
no overt third person enclitic, in the sinsular:;
26. Posak ?a. "He/she is tirea'

But there is a third person plural enclitic, 3_): or 1, exemplified

R v

ia (27).

27. P'os3k ?%a 1, ‘ "'nxe‘y ére; ti.‘teﬁ'

v 1 ‘ "

There is some variation in the encliticization of ;dbjéct
pronouns that .éhbuid be pointed out. The ex;'xnples collééfea here
are pri:ariiy for 1llustrative purposes, Full :paradigms'of pro~
noainal enclitics are dispiayed in a later se;:giﬁn. ’

Prorozinal e:iclitics follow tense and modal ‘enclikti'cs, but
souze elements follow the pronozinal ones. For ;xamﬁle, fitst and
second persoa pronbni:ial enclitics are in the middleA of ;he enclitic
sequence xi - ic, which represenc# the Inferential catégt‘:ry. meaning
roughly ‘it must be the case that'. This yields, with firsk person
singular, the enclitic sequence xi g ic: ’

28. Kitleitl sbr xi s de. 'I wmust have broken it

v 1
If we now insert the first person plural, we get the enclitic
sejuence xi, id, ic: observe that there aré two vowel's in a row.
The second of these regularly drops, giviﬂg the pbgnetic form:
¥1 d ic, as 1a (30). ' R

29. Kitletel idt 31 d de. "We must have broken 1t'

v i ! »

19

We have seen that the sequence of Declarative pius sccond
person singular s %a s (30a). The forw of the second person

enclitic with the Inferential sequence is differeats, xi k Le (300).

30. (a) Baldl ?a s. X *You're cold'
v 1
(b) Balal xi k iec. 'You must be cold'
v - 1

When the subject is third person singular, i.e. the categery
for which there is mo overt pronominal enclitic, then the Inferentizl
elements xi, ic come together, the second vowel drepping out: xl
< (31).

31. P’osdk x%i c. ., 'He/she must be tized'

v

When the direct object is a pronouxm, it too wiil enclizicize.
The first person encltics are always s (1) and id (2), regardless
of whether they represent the subject ox direct object. But the
second person singular emeclitic for subject is is and for dirast
object itsx. The sentences in (32) contaim first person subiacts
and a second person direct object; while ia (33) the subject is
second person singular and the direct objects are Zirst persod.

32. {a) Ts’oqucitl ibt s itsx. ‘I hit you'

v 1
(b) Ts’ogqwcitl ibt 3d itsx. "We hit you'

v 2

20
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33. (a) Ts'oqweitl ibt s is. 'You hit me'
v i
(b) Ts’oqweitl iS: 1d is. *You hit us'
v 2

Further variation in thé pronominal enclitics is conditioned
by. other eaclitic categories.

The enclitics associated with the verb attach to the first
word of the seatence, even if that woxvd is not the verb. For
exazple, 1f the direct objecf of (34a) is made the topic of the
sentence, then it precedes the verb, together with 1its accusative
prepositioa ?gyoaw, and its dep&dents. Sentence (34b) shows the
result: the sentence enclitics» attach to the accﬁsative preposition,
since it is the fifst. word in the sentence. (The vowel of obt 'Past'
has assimilated to the preceding labial consouanﬁ qw ia (34b)).

34. (a) Ts’asﬁu ibt ?a John ?3yogw tc’ITkwal ?aq.

v PAST Decl 1 AC 2 the
'John chased the dog'
() Jyogw obt ?a tc’Tkwdl ?aq ts’asiks Joi:n.
. AC PAS.‘I' Decl TOPIC/2 the V 1
*(It was) the dog, (that) John chased’

TOPIC/2 1 v

1.5 Soze further examples
The following sentences provide a variety of examples of

prepositions and.enclitics.

21
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1's and 2's

Nominative and accusative pre;msitions, as well as subject
and direct object enclitics, are found in (35). Some verbs tsking
the registration prefix %o~ for dirgc: objects are givea in (33)

35. (a) T1l'itcitl s cots’as %ag ?5yoqw.

v 12 . ac
'I'm shooting (at) the tree'
1 v 2
{b) DatcSl 7a Bill John ?3yoqw.
v 102 AC
'Bill sees/saw John®:
1 V. 2
(c) Osogwa?ap s ?Byogqw John'
v 1 a2
'I hunt/am hunting Joha'
36. (a) Okwagilkw ?a baydl gS?atstp ®aq
v 1
'The Indians call (it) bayal'
(b) Okoxwis s tmkin.
v 1 2
'1 am veatingfonfthg—head a stocking’
1 v 2
ecipient

With a verb of transfer, such as lg,g tgive', the recipient

noninal is marked with the.accusative preposition ?Syogw (37a); 1t

22



23

way be ozitted (37b). The item transferred tec.eives no preposition.
37. (a) Oy% ?a?is s tcabas w&ogw John.
v FUT 1 sugar AC 2
(b) OyE ?3%is s tcabas bhn.
vV FUT 1 2
*I will give sugar to John'
The recipient may be topicalized with ?Syoqw.
38. Oyoq ?a%is s John %oyE tcabas.
AC FUT 1 2 v
*'John, I will give sugar to'
Alternatively, ?Btssey’ap 'to(ward)' may be used.

39. Otssey’ap ?a?is 'id tcabas yadagakkw ’agad

to FUT 1 sugar child/our
'To our child, we'll give sugar'

Only the item transferred and not the recipient may be
incorporated into the verb ?oy¥ as with the question (40a). (See
chapter 2 for the significance of this fact.) To question the
recipient, it is incorporated as in (40b).

40. (a) Baga-y€ ?a%is ik yadaqakkw'’ags.

what/V FUT Q/1 2
*What will you give to my child?'
1 v 2
(b) Atci-sey’ap ?%%is ik tcabas?

who/to FUT you sugar
‘Who will you give sugar to?'®

23
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A benefactive or delegative takes the preposition ?Ttsaxad ‘for'.
41. (a) Okwil ?a%is s poko? ?Gtsaxad yokw?ags
FUT 1 2 for BEX/uy
'I'11 make a basket for my grandchild®
1 v 2 BEN
(b) S8 s itsx ?Stsaxad y3.
v12 for DEL
'I'm holding you for him,'
1 v 2 DEL
(c) 5€sa¥ad s itsx y¥ s&.
'For him, I'm holding you'
(d) DatcBl s qB?as ?aq yag-tsaxad ibt ik ba%as-I1,
V 1 2 the BEN/for PAST you 2/V
'I saw the man who you were building a house for‘.
1 Vv 2 BEN 1 2
A question of reason ('why?') uses this same preposition.
42, (a) Ats-tsaxad ik ?Ckwil poko? %aq.
BEN/for 1 v 2 the
'Who are you making the basket for?'!
BEN 1 2
(b) BAg-tsaxad ik ?8kwil poko? ?aq?
why 1 v 2
'Why are you making a basket?'
Instrument
An instrument nominal takes ?Bxwaw’Il 'with, using' (43a).

2u
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Sometimes the instrument nominal incorporates into the preposition ’
' 'I was~in-school in Clo-oose, when I was a child'

(43b).
43. (a) Oxvkwey'a %ap 7X%is ?a yobis ywaw'al hisiy’k. c v L
FUT. Decl 2 vith ™ : tace sexpresslo -
or ) . Among the place expressions are included:
Oxvkwey’a ?ap 7E?is 7a yobis hisiy’k Tyvaw'Zl. , Location:  %iyax '(be) at, in' (45)
v FUT Decl 2 N with - Destination: Zowiy ‘(go) to') (46)
' (He) willfell the cedar with an axe' Souzce: 7iyaxtageitl *(come) from'
v 2 N i 70%t1 *fron (a person)" (47)
(b) Oxwkwey’ap ?E?is ?a xobis hYsiy’k-yaw'Zl. : ’ 45. (a) Iyay ibt id tcikis P*&Etcida.
(c) Wik 75 Wywvaw’al sipsiy’at, ?oxwaw'l ?i ts’istdp. ’ at PASTLT VvV 1C
"Don't use cedar limbs, use ropel' : . ' 'We were fishing at Port Renfrew (Pacheena)'
Tize ) ‘ 1 v 1
Most time expressions take ?gyi 'whem' (44). (b) Datcawitl s datcay’k ?aq 2iyax.
44, (a) HixvE qBs ho?8 Zeyi. ' ' ' vV 1 1 1a
v time . ' 'I look(ed) in the mirror"®
*I used to work hard a long time ago. ] ) 1 v 1c
Q) BiTE R e L el ' " 46. () Coln%adokw’t id Poviy yXlqa ba%as.
"ns;xc's no b;nt (operating) g_t_p;;:n:- : V/Pagsive 1 to that DEST

‘ ‘e were invited to that house'
(c) Diwll ibt s tc’apats wIgpal 7oyi ?Stsaxad yayagawt’ags.

1 v ’ DEST
VvV eAS1l 2 ™ for BEN/my

' : 47. (a) Pipaq-3p ?a ohn Piyaxtageitl bakwil %aq.
'I made a cance for my friend in the wintertime' () pag-fe Ta o * 1 °q

v
1y 2 . - v ™ 2/ from | SOURCE
: . ' : ‘John got a letter from the store'
(d) SkBlaw obt s TIZ?5s Yiyay, y¥daqak ?aq s Zoyi. oo & = store
C - . 1 v 2 URCE
s V¥  PAST, L& 4a adid 1 _ $00

g - _ _ 26



Comparison
The Standard in an expression of comparison takes the
accusative M (48). The Standard may be a elwu (4&:)..
48. (a) Hats® ?7a Tom ?Byoqw Jack.
v 1 AC  Standard
'Tom 48 taller than Jack', 1it,
"Tom 1s-tall Jack'
1 v Standard
() Nits’ictc ?a Chris ?Syoqw Bay-A
v 1 AC s )
'Chris 1s emall{er than) Roy'
1 ) 2
(c) Bxts’ 7a Tom ?Byoqw qwd ?aq Jack.
be-go COMP
‘Tom is taller than Jack is (so0)!
While (48a, °),, above are ?a;aphrases, (49;) is an exptmiﬁ
_ of comparison but (49b) is not; it is puapl;nnd by (49¢c). (
49. (a) Bg’=katl s 7Byoqw qwa qik.
v 1 AC be-so COMP/1
'I am-happy (more than) you are (so)'
1 v '
{b) Og’akatl s Pyoqw sow'a.
v 1 AC " you
*I’am-happy (to see what) you (are doing)'

27

28

(c) Og’Exatl s %oyoqw s itsx.
v 1 AC 1 2
paraphrases (b), 1it. 'I am-happy (for) me (to see what) you (are
1 v 1 2
doing)*

2.  Some tramsitions among syntactic relations.
The initial syntactic relation assigned to a nominal can

undergo a transitiom, so that the ultimate syntactic relation is
not identical to the initial ome. On the hierarchy of syntactic
relations!

50. Syntactic hierarchy
4 (subject )

2 (direct object)

3 (indirect object) _
others (including Benefactive, Place, Time, laustrumeat);
it 1s possible iox;’direct objects (Z.b. zntiitect objects

(2.2), and Benefactive{ 'co advance. )
l’u:thernote.b it 1s possible for a nominal in a conjoined
expression to take over the syntactic relation of the latter
(Comitative Float, 2.4). '
BEvidently the syntactic relations in & causative construc-
tion undergo a similar transition (Clause Unfon 2.5).

Poesibly, Nitinaht slso sanctions Emphatic Float 2.6) and

28



Raising (2.7). The possibility of Retx'éats 1s discussed

in section 2.8. In Chapter 3, the syntax of Possessors 18 describad:

both P A ion and P Union are sanctioned in
Ritinaht.

v While transitions in Nitinaht are optional in some instances,
wany of them are obligatory when some nominal bearing a given syn-
tactic felation outranks a nominal with a higher syntactic relatioa
80, on the chain-of-being hierarchy (51).

51. Chafn-of-being hierarchy
Speaker and listener
_(other)persons
Aninmals
Inanimates
That is, a transition between syntactic relations is sometimes
obligatory when ;hcte is a discrepancy in rank between two nominala
on the two hierarchies (50) and (51). Manifeszatioms of this con-

ditioning are described below.

2.1 Direct objects

The Patient of an action verd, such as ts’ogwcitl 'hit' is
initially the direct object; the agent is initially the subject.
The case markings prepositions are optional ?8xw 'Nominative' for
subject, and *Syoqw ‘accusative’ ff)t direct object. Sentences (52

a, b, c) tllust;nt_c these syntactic relatious overtly.

52. (a) Ts’ogweitl ibt %a {70y} John Bill Syoqw.
Vv  Past Decl NN 1 2 AC A
“John hit B{11' ' '
1 v 2
(b) LlakEwitl ibt %a (P0xw) te? kY ?ag John 78yoqw.
v ™ 1 2 &
*The dog licked John' ' s v
1 v 2
<(c) Tsa§ 7a (%oxw) tc’Tkwal %aq John ?Eyo§w.
v N 1 ’ 2 AC
'The dog is chasing John'
1 v 2
Alternatively, the initial direct oblect may advance to
subject, as in (.."»3)f
53. (a) Ts’ogweitl’t t "?a (oxw) Bill 7oxwit John.
v/ Past W 1 Ny T
'B{l1l was hit by John'
1 v )
(b) Llakiwitl®t t ?a (707591 John ?oxwit tc'ikwal ?ag.
v/R S | T
'John was bitten by the dog'
(c) Tsas¥®?t 7a (%oxw) John tc’Tkwdl 7aq Poxwit.
v/R S SR |
‘John is being chased by the dog'
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When direct object advances to subject in Nitinsht, the verb

takes the Passive suffix -?3t (usually appearing in a phonetically

reduced form). Also, the former subject loses that relation and
becomes a chomeur (indicated by a circumflex over the number of its
former relation, here T): the 1 takes the case of 2 1, i.e. nomin-
ative %oxw, plus the suffix -?it, deletion of the glottal stop
produces Zoxwit. .

Networks for (52¢c), (53c) are displayed below, showins syn-

tactic relations only.

52. (c) tsasd
1 2
te'Tkval John
53. {¢) teasi?t
1 0
1, o \\

tc'Tkwal " John

If the initial direct object outranks the initial subject
on the chain-of-being hierarchy, then that dir;ct object must advance
to :nbjec-t. 'For exaaple, first person outranks third person on
this hierarchy, and therefore the advancement is obligatory in 54.
The initial direct object is manifested here as ultimate subject,
in the enclitic s ‘I'. »

54. (a) Ts’ogeitl’t s John Zoywit.

v 11
'J;hn hit me', literally, 'I was hit by John! .
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54. (b) TsasE?t s tc’ikwdAl %aq Poxwit.
v 1 2 .
*The dog is chasing me', 1it, ™ being chased
by the dog'
(c) Datcdlit s.
v/e 1 _
‘He saw me', 14t. 'I was seen'

First and second person are both of the highest rank. Thus,
vhenever thedm subject is third person, and the inftial direct
object is either first or second pexsom, the direct cbject must advance.
The sentence in 55 illustrates initial second person direct object
that has advanced.

55. (a) Cokwlg’adit 7as John.

v/P 1 2
‘John invited you', 1lit. *You were {ovited by John'
Thus the chain-of-being hierarchy is, in part;
first and second person

third person
When both subject and direct object are first or second person,

then no advancement of direct object is possible. Initial texmhood
must be retained:

56. (a) Datcil s itsx.

'I am watching you'
1 v 2

32
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56. (b) Cokwaq’ad s itsx.

v 1 2
‘I'n muuhz you'
1 v 2 'you'
(c) 0%w s itsx.
v 12 »
*I'm waiting for you'
1 v 2
{d) Tsoqucitl ibt s 1ts§.
v Past 1 2

'I bit you'

1V 2 4 «

(e) Tsoqweitl ibt id itsx.

v 1T 2
'We hit you'
1 v 2

57. (a) Ts’oqwcitl t %a s is.
v .l’astl
‘You hit me'
1 v 2
(b) Ts’ogqwcitl %a s ow'itcis.
V. Decl 2 1
*You (plural) hit me!
1 v 2

.
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57. (c) Ts’ogwcitl id ou’{tcis.
v 2 1
*You (plural) hit us®
1'. v 2
(d) Cokwaq’ad ak s is.
v q 21
'Are you invikting me?'
1 2

When both subject and direct object are third person, thea, in

general, advancement of direct cbject is optional. This has dbeen

11lustrated in (52-53), as well as in (58) and (59) below.

58. WidatssaZap ?a llaptc¥ %aq John ?Syoqw.
\4 1 2
*The lightning scared John'
1 2
59. (a) Botcaap 7a kwicd ?aq John ?Syoqu.
v 1 2
'The cigarette burned Joha'
1 v 2
(b) Botca?ab’t 7a John kwicd ?ag Zoxwit.
v/p 1 2
‘John was burned by the cigarette'
1 v 2

However, sentences in which ultimate subject is inanimate

and ultimate direct object is animate are very rare. It seems

<

3
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that the chain-of-being hierarchy is:

first and second person
{other) animate
inanimate

2.2 Indirect ohjects

There is some evidence that the recipient nominal John in

(37), although ultimate direct object, is initial sw¥indirect object.

A question nominal obligatorily imcorporates into the verd (for a
certain class of verbs, including ’gxé). However, it is a genmeral
constraint in Nitinaht that only the initial direct object can

incorporate in this way. A question word incorporated into ’ggﬁ

represents the item transferred: therefore, it is this nominal that.

serves as initlal direct object, not the recipieut.

For example, the ultimate direct object o£(6q)£s first personm,

but this is not the incorporated nominal. Rather, the latter is
bag- 'what', which must then be the initial direct object.
60. (a) Bag-ay® ?a%is ik s is!
V Fut Q 1 2
‘What are you going to give to me'
1 v 2
The network of (60) is, therefore, (60b).

60. (b) -yE: 0

36

The initial indirect object incorporates into the Dative
preposition:

6).. Atcis®?a bt ik ¢'Sts’aqtp?

who/Dat Past 1 fruit?
'Who did you give the fruit to?’

In (62a), the initial indirect object advances to ultimate
subject. This advancement is presumably in two steps: Jadirect
to direct object, then direct object to subject. Evidence for this
is the presence of the Passive morpheme, associated with advance-
ment of direct object. Thus, the metwork for {62a) must be (62b).

62. (a) Bag-ay® ?a%is it ik s John?

vhat/V Fut P Q 1
‘What will John give to me?!

(b)

The chain-of-being constraint extends to indirect objects
as well as direct objects. That is, if the initial subject is
outranked by the initial indirect object, then the latter must
advance, via direct object, to éubjecc. Thus the sequence of two

aedvencements, 3 - 2 and 2 ~ 1, is obligatory im (63).
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63. (a) Oy&?t s q’ats’agk.
v/ip 1 fruit
'I was given fruit'
(b) WikaEw-iys?t s.
m’-modlv/n1
*(They) gave me something no good. (ﬁ“
(c) WikstBp-aya?t %as.

nothing/V/R 1

ll w‘)"l"" o
b

ey ond >)

' (They) give you nothing', 1it. 'You are given nothing'

1 v
2.3 Benefactives
Benefactives are marked with the preposition ?5tsaxad ‘for'
(64a), but are subject to the chain-of-being hierarchy constraint.
Thus, advancement of the initial benefactive to ultimate subject
in (64b) 1is obligatory.
64. (a) OkwIl s bab?3 %aq ?Stsaxad Roger.
v 1 2 for Ben
'I am making the basket for Roger'
1 v 2 Ben
(b) Oxwilidb’t s bab?3.
v/o/p 1 barket
*She is making a basket for me',
lit. 'I am being made a basket!'

1 v

38

This last sentence manifests the morphology both of Bene-
factive advancing to direct object and direct object advancing to
subject. However, the initial Benefactive can advance to direct
object and then bear this as its ultimate relation:

65. (a) OkwTl s tc’apats ?Gtsaxad yayqawt'ags.

v 1 2 for Fen
‘I made a canoe for my friend'
1 v 2 an
(b)_ Ukwilip s tc’apats yayqawt’ags.
v 1 2 2
'l made my friend a cance’
1y 2 2

Thus, the morphological side effect of Ben-2 advancement is

the addition of the morpheme -ip to the verb.

To question a Benefactive, incorporation into Zctsaxad is

required.
66. Ats-tsaxad ik babowk?
who for Q/you V
‘Who are you working for?'
1 v

2.4 Comitatives

Sentences with a plural subject, e.g. (67a), have paraphrases
with ultimate singular subjects and a comitative expressicn, marked

by ?o%okwidokw ‘together with', as (67b, ¢€).
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67. (a) ObIts® %atl t id itsx.
v then Past 1 you
*We talked about you'
1 v
. {b) Ots’idZk ibt s itsx ?o0%ockwidokw yZ.
Past 1 you with he
‘I was talking with him about you'
{c) 0?okwidokw obt s y& ?Gbats’® sow’a.
with Past 1 he v you
‘Y was talking with him about you'
1 v
It is possible that the initial syntactic relations for both
(67a) and (67b, c) are identical: these initial relations are
manifested directly in the ultimate relations of (67a), where ‘the
initial first plural subject is revealed directly by the ultimate
subject enclitic id ‘we': network represents (67a):
68. ?obats’
A
1d itsx

‘we' 'you!

o &

In (67 b, c), a part of the initial subject, that representing

first person sing'ular, has assumed ultimate subjecthood. Thus the

39
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remainder of the initial subject becomes a chomeur, taking the
preposition ?o%ckwidokw 'with'. Network (69) shous‘ the jnitial and
ultimate relations of (67 b, c): these two sentences differ im
word order because the. chomeur phrase ?o?ckwidokw yX ‘with him'
functions as the topic of (67 c), and so0 precedes the verb. The
gentence enclitics g~ itsx come in second position according to
Wockernagel's Principie.

69. "bats’

id sow’a

sliy’ay ya

Conjoined nominal expressions are 'broken up' in other ways.
For example, reflexivization may affect one of two conjuacts, which
then shows up (by the regular reflexivization process az a prefix
=k{w)~ on the preposition or verb:
70. BE?as-I1 s ?5-kw-tsaxad ?ic sow’a.
2/v 1 self for and you
‘I'm building a house for you snd I'
1 v 2
1it. 'for myself and you'
If a subject ia one that normally encliticizes, e.g. first
person plural, and yet contain a non-emncliticizable noun, then both

the subject enclitic and the noun show up: the subject encltic

ko
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reflects the number and person of the eatire subject, while the non—
enclticizes part will retain the conjunction ?ic ‘and'. (Since

there 18 no change in grammatical relations here, the preposition

%0%0kwidokw can't show up.)

71, B3%as-Il1 qoy id ?ic John.

2/v used-to 1 and

'John and I used to build houses’
1it. 've and John ... !
1
An additional use of ~kidokw 'with' is shown below.

Walcitl ?atls ?3ad-tcidokw-sas.
v then 1 only—ylth-just

*I'11 go~home then alone'

1 v

2.5 Causatives

An intransitive verb such as kodolw-~ 'awake' may appear as
an indepeundent verb, e.g. kodokw-citl ‘awake-mom :mas' in (72a),
or it may incorporate into the verb -(s)a?zp 'cause, make', hence
the causitive kodokw-sa’sp 'awaken' in (72b). The nominal which
functions of the subject of the intransitive is the (ultimate)
dixect object of the corresponding causative.

72. (a) Kodokwcitl ibt ?a.  ‘He woke up'i

{b) Kodokwsa?ap obt 5.  'I woke hin up'.

b1
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The formation of causative expressions by imcerpovation of
an intransitive verb into ~(s)a?ap 1s fully productive, as the
following examples illustrate.

73. (a) Tc’i:_wacait.l 7a. 'He's frightemed'.

(b) Ocit s tc’i;sm:z;iy ?ags wa?itc.
i V/Pass when COMP X asleep
'I was frightened by somebody when I was sslaep’
1 3
{c) AtcIyoqw ik te'ixwat- sa®ap?
who/ACC Q/1
*Who did you frighten?t
74, (8) Wik s ?Gsoqgw.
mot 1 V
‘X don't ache, burt'
1 v
(b) So’eltaditl’t s Annie, yag-?aq s "SsoquEht.
nose/grabbed 1 i COMP 1 V/Passive
‘I was grabbed on the nose by Annie, (and} I was burt®
75. (a) Kitlcitl ibt ?a llipotay %aq. ‘
v 1

'The bottle broke/shattered!

1 v
(b) Xitlsa’ap obt %a ba?itlqats ?aq llipotay %aq.
v 1 2
'The boy broke the bottle'
‘ 1 v 2
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A transitive verb with an incorporated direct cbject partici-
pates in a causative copnstruction in the same way as an intransitive
verb.

76. (a) U-kwil %as ba%as.

v 1 2
(b) B3?as-Il1 7as.
2iv - 1
You are (starting to) build a house'
1 v 2
(c) Ba%as-Il-sa®ap s itsx.
b 2
*1 made you (start to) build a house'

It is possible that the causative construction of Nitinaht
reflects the transition of Clause Union. If this 1s the correct
analysis, then -sa”ap 'cause' is the superordinate verb of (72b),
its {nitial direct object being kodokw- ‘awake'. The initial subject
of kodokw- then serves as the ultimate direct object of the supex-
ordinate causative verb: -

77.

U3

This analysis, seemingly, does not make completely accurate
predictions about the syntax of causatives in Kitinaht, and ome
might argue that a rather different syntactic process is involved.
1 briefly outline a few of the difficulties here and show that they
are not insurmountable for the Clause Union analysis.

If the subordinate verb is initially transitive (and its
direct object does not incorporate), then its direct object and

subject should serve as the ultimate direct and indirect objects,

respectively, in the causative sentences. Therc are two problems

here: nominal representing the subordinate subject bears evidence

of being (i) the initial direct object, and (ii) the ultinate direct:

object, of the causative verb -(s)a’ap.

(1) In general, only the initial direct object of a verb (or a modifier

.of the direct object) may incorporate into the verb, and this is

regardless of the ultimate syntactic relation of that initial direct
object. Yet in the causative construction, the initfal subject of
the subordinate verb may incorporate, as in 78a (cf. 78b).
78. (a) Atc-a%ap ik tc'Yccitl ba%as %aqg.
who/V Q/1 clean house
'Who did you make clean the house?’
1 v
(b) Tc’Ic-sa?ap s y3daqak ?ag ba’as %aq.
clean/V 1 2 house
‘I made the child clean the house'

1 v 2

Ly
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However, since a modifier of a dependent nominal may incorpor-
ate in place of that nominal, it may also be posaib;e that the
subject of a direct object verb incorpoxate in place of that verb.

Evidently, other dependents of the direct object verb may
not incorporate io its place,. hence the question (79a) must be
formed by double incorporation, something which 1s in general
possible (79b). _

79. (a) Bag-kwil-Zp ik _q&’as 2aq? ‘

what/build/Vv 1 man '
‘What did you make the man build?'
1 v .
{b) Tc'apats-Il-a% s qB?as ?aq.
canoefbuild/v 1 2
‘I made the man build a canoe'
1v 2

(11) That the initial subject of the subordinata verb shows up as

the ultimate direct, not indirect, object (as in 78b), is explainable
as an advancement. Thus the network for (78b) is:

80. ~sa?ap

yadaqak Sa"n'

LH

-

PN
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One further property of causative constructions in Nitinaht
is that the initial dependents of the-subordinate verb, aside from
subject and direct object, simply transfer to the causative verb
with the same syntactic relation. For example, the subordinate
benefactive of (80a) has advanced to direct object of the super-
ordinate verb. (This verd takes both —ip showing benefactive
becoming direct object; and -?It, showing direct object to subject

adv t; the seq contracts to abt.); Cf. (80b). The metwork

for (80a) is (80c).
80. (a) BaE?as-Tl-ap-3bt s itsx ?oxwit Bob.
house/build/v 1 2 .
*Bob made me‘build a house for you'
1it. 'I was made (for) you (to) bufld a house by Bob.'.
1 v 2 '

(b) Ba%as-Il-ap s itsx ?Gtsayad Bob.

'I'm making you build a house for Bob'

(c)

Bob
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2.6 Emphasis

Nitinaht has an emphatic expression 70%kwx '(by) oneself' as

in (81).
81. Hitakwisadap s *o%okwx.
v 1 BeiR
‘I took it off (by) myself'
1 v EMPR
The word 2o?%ckwx consists of the definite prefix %o-, the
reflexive ~k(w)~, and the nominative >preposition -x c(w). Possibly,
this word forms a part of the fnitisl subject of (81) together with
s *3', and the latter takes over that relation, the emphatic ?0?0kwx
then ‘floating®, the ultimate subject then encliticizes as s.
However, it has been geen in section 2.9 that even if a
pronominal erclitic for the subject is used, there may be a non-
encliticized nominal still present as part of the ultimate subject.
So, the ultimate subject of (81) could be s ?0?%ckwx, without my
emphatic float.

I lack enough relevant data to decide this question.

2.7  Raising

In sentence (82a), we would expect the first person pronoun
to be manifested as the ultimate direct object of hdxwtaksa?ap
‘teach, cause to learn', but instead, it is the direct object of
q’ap3k ‘be willing'. Evidently, it h as been raised from earlier

direct object of hoxtaksa'’ap t§ ultimate direct object of q'ip'ik.‘

u7
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This i{s shown in the (simplified) network (82b).
?2. (a) Q’ap3k ak s is hoxwtaksa?ap DIdTtTdq? '
vV @ 2 1 teach Nitinaht-lg
'Are you willing to teach me the Nitinaht language?’
1 2

() q’apak

is hoxwraksa?ap
t *
you
1 2
Diditidg s

|

ne
We can see that s 'me' is the ultimate direct object of
q'apak from the fact that it encliticizes within the clause governed
by q’apik. Furtbermore, a nominal raised in this way can further '
advance to subject of (the passive form) g’apZk’t:
83. (a) Kab'at'p ak q’apik’t g s Ben hdxwtaksa?ap DIdTtIdq?
kaow  Q/you V/PASSV COMP 1 ;
'Do you know if Ren {s willing to teach me Nitinaht?'
comp 1 v 1
lit. 'Do you know if I am willing-ed by Effie to
coMP 1 v 1
It seems that the advancement of the ﬁrst persoa pronoun from
direct object to subject cannot be while a dependent of hoxwtaksa’ap
'teach’ but rather when raised to, be direct object of q’apZk 'be

willing®, since it is the latter verb that shows the passive '
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Morphology: q’apak’t.

However, at least two alternative analyses must be considered.
(1) Possibly, the ultimate direct object achieves that relation
through a Union not through Raising. (ii) If there is in fact a
Union involved here, then possibly the ultimate direct object
passes through a stage of being subordinate subject: by virtue
of the Union rule, the passive morphology would not be manifested
in the subordinate verb.

For now, I must leave these as open questions.

2.8  Retreats
The Chein-of-Being Hierarch, described in section 2.1, has

been shown to constrain transitions in Ntinaht.

Advpncqants of direct object, indirect object, and benefactive
are optional under certain circumstances, but obligatory under
certain citcmtmc;a vhere the above Hierarchy is relevant.

I review briefly using the passive (advancement of dixe'ct
pbject to subject). While (84), with both initial sgbject and
flinct object being third person animates, is 3}'amt1ca1 in both ’
the active and passive forms (84a, b), (85), with inftal third
person subject and first person direct object is ill-formed ia .tbc
active (85a), but perfectly grammatical in the passive (85b).

84. (a) 'l'c'.hpntu"ap %a (;»;v) bowatc ?aq Byoqw Robin.

v NOM 1 ACC 2

kg

~

50 . 50

'The deer frightened Robin'
1 v 2
(b) Tc’ixwatsa®ab’t Za ("o:.ew)ko& %oxwit bowatc ?ag
v/PASSY NOM 1 NOM/P i
'Robin was frightenad‘ by the deer’
1 v 1
85. (a) *Pixtcitl %a (%oxw) Robin 78yogw s(iy’a)
v 1 acc 2
‘1literally 'Robin pinched me'
1y 2

(b) Pixtcitl’it s %oxwit Robin.

-

V/PASSY 1 1 : R G
literally: 'I was pinched by Robia' LR
1 v i L vagslt SR

The interaction of the Chain-of-Being Hierarchy with® "~ %
sanctioned advancements is more general. TPor example, while an
initial benefactive, optionslly to ultfmate direct cbject (86b) o’
ultimate subject (86c) 1f it is of equal hierarcuical rank compared
to the initial subject, the benefactive must so advance (fn ééini’fﬁ)
4f it outranks the initial subject, as shown in (87). =~ ‘¥

86. (a) OkwIl ibt 7a (%oxw) Mary bab?s Stsaxad John.

v 1 2  “ for'  Bem
_'Mary made & basket for John' ' - .
1 v 2 Ben
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#8. (b) OkwIiip obt ?a (%oxw) Mary John bak?3.
i 1 2§
"Mary made John a basket'
1 v 2 2
(c) OkwIlid’t t ?a (%0xw) John bab?3 ToxwIt Maxy.
V/B/PASSY 1 2 1
1ft. 'John was made a basket by Mary'
1 v 2 1
The banefactive of (87), the first person sinmgular, has
sdvanced successively to indirect cbject, direct object, and subject,
When that bemefactive does not undergo all These advancements then
ungremmstical sentences result (e.g. *87a, b); thus only (87¢) is
grammatieal. These judgements of grammaticality are very strong
and clemxcut; moreover, there is absolutely no variation among
speskere of Nitinsht in these respects. A Nitinaht person has
difficulty i consciously repeating word-for-word sentences like
(*87a, B), much as an English-speaking person would vhen abruptly
faced with an ill-formed sentence like #yho did they whizper that
Joba and left together. ’
87. (a) *OkwIl ?a (%oxw) Mary bab?d "Stsaxad s(iy‘a).
v 1 2 for  Ben
1it. "Maxy fs naking a basket for me'
1 A 2 BEM
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87. (b) *OkwTlip ?a (%oxw) Mary s(iy'a) bab?3.
v/B 102 3
1it. 'Mary is making me a basket.
1 v 2 32

(c) Okwilib’t s bab?5 ?oxwit )ngy.
V/B/2ASSY 1 2 i
"Mary is making a basket for me'
lit. 'I am being made a basket by Mary'

1 v s 1

The condition that advancement is obligatory when a direct
object,indirect object, or benefactive outranks the (initial)
subject on the Chain-of-Being Hierarchy accounts for the above
observations.

There are some sentence patterns in Nitinaht which at first
glance a.een to vilate the condition involving the Chaiﬁ—-of-—hing
Hierarchy. For example, in (8.8)', the initial subjkect and benefactive
are Mary and s(iy’a) 'I, me', respectively. It is obvious that
the )inithl benefactive buttanks the subject on the Chaiti—of—Being

Rierarchy, and also that any advancement rules have failed to apply.

Our expectation is that (88) will be an ill-formed pattern im Nitinaht,

but it 1s in fact perfectly grammatical. For example, the typical
reaction of a fluent speaker of Nitinaht to (*87a) is to correct

this sentence to (88).
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88. Okwil 7a (%oxw) Mary bab?3 ?Stsaxad’it s.
- v 1 2 for

The crucial feature about (88) is that the benefactive case~
marking preposition, normally just ?Stsaxad, takes here the affix
=?Tt (reduced by regular processes to ?Stsaxad’it).

Since the affix -?it is in general assigned to a chomeur
{or to a verb having a chomeur), the above observations lead to the

hypothesis that the expression ?Stsaxad’it s in (88) is an ultimate

chomeur, and so for this reason does not count as a violation of the
Chain-of-Being Hierarchy condition on ultimate syntactic relations.

At least two mechanisms for effecting the demotion to chomeur
have been proposed, cf. Klokeid (1976a) and Postal {1976). A rather
different analysis has been explored in Klokeid (1976c).

Not only benefactives, but other dependent nominals demote
to chomeur in the same way, i.e. with the function of elimimating
violation of the Chain-of-Being Hierarchy condition. Here, I present
an example of a demoted direct object (89c).

89. (a) Wik s xabop tc’Tkwil %aq ?Byogw.

notl V 2 ACC
*I don't recognize the dog'
1 v 2
(b) Wik’t s xabop’t tc'Ikwdl ?ag ?oxwit.
not/PASSV 1 V/Passv 1 by
'Thé dog doesn't recognize me'

14t. 'I am npt recognized by the dog"
1 v i
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89. (c) Wik ?a xabop tc’Ikwil 7‘a:; 2Gyoqwi?t s. '
not Decl V 1 ACC/PASS T

*The dog doesn't recognize me'

3. Possession
At least three semantically distinct kinds of possessions

exigti(i}{111); in addition, there are less readily classifiable
possessors (iv).

(1) Part-vhole relation. The whole is the 'possessor’;

the part is the 'possessed’. The most common manifestation of the
part-whole relation is in the area of body part expressions, e.g.

my hands, kokodokwsi?t 2ags 'my hand(s)'; your ear, pl'ip’I?t Tk

‘your ear'; t1'Exidab -Tt ?aq llapotay ?ag "the cap of the bottle'

(11) Kinship. The specified kinship relation is the 'possessed’,

while the person having that kin is the 'possessor'. For exazple,

mother, ?ab?eqs-Ek ?ag s 'my mother'; his daughter, hitxaw'Tlib-

&k %aq 'his daughtex'.
(1i1) Ownership and control. The owner is the 'possessor',
the item which is owned is the 'possessed'. For example, my axe

hisiy’ak-kw ?aq s 'my axe'; your house, ba?as-kw Yk 'your house'.

(iv) Miscellaneous. Included here are such expressions as

my picture: semantically, they are unlike groups (i-{ii), but are
morphologically related to possession. _
{Type (1) has been traditibnally called 'inalienable’

possession, and type (11i), 'alienable ' possession.) In the three
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sections of this chapter, I deal with types (i, ii, and 1i1): 3.1
covers ownership and control; 3.2, part-whole relations; and 3.3

kiaship. 1In Nitinaht, the syntax of each is distinct.

3.1 Ownership and control

One way to express ownership or control is as follows.,
The possessed nominal under the ownership-control relation takes
" the suffix —~okw; the possessor appears, with the complementizer
(definite determiner) 2aq/qik, in the allomorph used for subject
of a clause. Thus:

90. Tlaw& %a John xixbis-okw %aq s.

v 1  car /POSS the I
‘John is-near- my car'
v

If the possessor is a nominal, then it appears jmmediately
after the possessed nominal (91a), or else preceding it (91b). In
the former instance, the possessed suffix -okw is used, but in the
latter, the possessor takes the suffix -s. Both forms are used by
younger generation of Nitinaht speakers; it seems that the second
mode of expression is based on an English way of expressing the
ownership relation.

91. (a) Tlawd s xixibis-okw ?aq q5%as ?aq.

V 1 car/P0SS the man the
*I am-near the nan'bs car, the car of the man'

1 v
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91. (a) Tlawd s John-s ?ag xixibis.
*I am near John's car'

An alternative way of expressing ownership is possible ia
Nitinaht: i1t finds no parallel in English. The initial possessor
assumes the syntactisrelation of indirect ob ject, and the possessed
does not have sny overt morphological marking.

Thus (91a) is paraphrased by (92). Here, the possessor has
advanced from indirect object to direct object, and so the verb takes
the suffix -teip.

92. Tlawd-tcip s gB%as ?ag xixibis.

v 12 3
'I am near the man's car'
1 2 2

We can see that the possessor has become the ultimate direct
object in the sentence pattern of (92), in that the possessor en-
cliticizes in direct object form if it is non-third persom, as in
(93).

93. Tlawa~tcip s itsy xixibis.

v 1 2 2
'I am near your car'
1 2 3

The conversion of initial possessor to indirect ob ject is
called Possessor Union.

1f Possessor Union fails to apply, 3s im (94a), themn no
violation of the Chain-of~Being Hierarchy condition is observed.
But when Possessor Union does apply, then a potential violation
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of that condition arises in circumstances like that exemplified ' Some additional examples of Possessor Union involving the
by (94), and so advancement of indirect object to ultimate subject ownership/control relation follow. A
18 obligatory, as in (94b). ) © 96. {a) Atca’t ik s kBw’al-ibt t3Ella.
94. (a) TlaWi?a g3%as %aq xixibis-okw %aq s. ) I Q1 v i
v 1 car/POSS . my . . : 'Who stole my money?’
*The man is-near my cax'! . . ' I v 1 2
1 v S (b) Wik s t’aqwik ?odwit g5 s Dick ‘sokwitl-ibt tElla.
(b) Tlawa-tcib’t s xiXibis gd?as ?aq. ‘ ( not I beiieve by COMP 1 i v 2
V/Passv 1 2 1 ) - A ‘I don't balieve.that (it was) Dick (who) stole
‘The man is near my car' (literally, COoMP ) i V
'I am-neared the car by the man' . my money'.
1 v 3 1 1 2
This form of expression, shared by gll generations of Nitinaht K (c) Hay3?ak-ibt ?as yIlqa qS%as caci.
speakers, quite clearly does not reflect influence by English, or, . - v 3 v 1 that i 3
say, Chinook Jargon. ‘ " _ 'That man doesn't—kn;w youf name*
Sentences with mitial indirect objects may acquire second 1 v v 1 v 5
indirect objects through Possessor Union. In the known examples, ‘ (d) Ha%ok obt id itsx ®ats’agk.
it appears that both of these advance to direct object, but that V PAST1 2 3 ‘
the higher ranking nominal (with respect to the Chain-of-Being) serves . ‘We ate your fish'
as the ultimate direct object. } , 1 v 2 ;
95. Oy&-tcip s itsx poko gG%as ?ag ?Syogw. No possessor union occurs ‘m (97).
v 1 2 3 @ AcC L 4 97. (a) Wix ? tc'Ttl daditcay’k’aqtlsib-8k %ags
'I gave your basket to the man' ) ’ not Imper v A 2 " Dar poss
17 2 3 . ' . " *Doa't pull my glasses!' I
‘ ' ' v oSS 2
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97. (b) Batct't ows id tc‘ikvil-;okw/"aq yIlga gB%as?.
V/Passv might 1 i . PéSS
‘That man's dog might bite us' .
ross 1 vV 1
Other ways of expressing owners‘hipa space precludes . e

describing them here. : . )

3.2 Part-Vhole relationship '

I1f an initial (intransitive) subject or direct object is a
body part, then the possessor of that body part typically assumes
the relation of ultimate subject or direct object, respectively.
Por exazple, the initial subject 'of (98a,b) is p’ip’I 'ear(s)'; its
possessor, the first petso;x singular has assumed ultimate subject- . '
hood, as we can see from the fact that it excliticizes within the
clause according to Wackernagel's principle. The verb here takes
thé suffix which is \mderlyinglyl =23t:
98. (a) USqui’;: s ptip’T.
v 1 ear
'My ears hurt', lit. 'I hurt ear'
1v
{b) Osoqwi?t owis s p'ip’3.
v might 1  ear
‘My ears migbt hurt'
Th; l;etwork for (98a) is (99): the initial possessor ascends,

i.e. it assumes the syntactic relation borne by its governer, here,

59

50
subjecthood. The suffix -?3t records the ascension.
99. 7Bsoqui’t '
o 1
1 1
p'ip’T .
POSS
[
P ion is possible with direct objects as well,

A‘s in (100): the verb suffix -?Tt is absent here.
(100) Wik ? s tcI?itl p’ip’3I.
unot Imper w V 5 ‘
‘Don't pull my ear', lit.
v 2
'Don't pull me (on the) ear’
v o2 2
(Possibly, the absence of the suffix -?it here is evidence
that Possessor Union, not Possessor Ascension, i{s at work. However,
we would expect to see the morphological side effects that would
be ultimately triggered by Possessor Union, and yet these are absent.)
Possessor Ascension is impossible if the possessedv nenizal
is neither direct object nor subject of an intransitive. For example,
in (101), the nominal s ‘I' 1s subject of a transitive verb: to
express the possessed nominal, an instrumental phrase must be resorted
to. (The direct object, though, has undergone Posgessor Union ~
see jmmediately below, also, for the internal morphological forms of the

instrumental expression, see below.)
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101. Tcoxweitl-ip s John qwaquitqatsib ?Sxwaw'3@l kokodokwrit
v 2 2 with INSTR
?aq s.
Det POSS
'I tickled John('s) foot with my hand!
1 v 2 2 POSS INSTR
Body part expressions also seem to permit Pésseasor Union.
For example, the initial direct object of (101) above must be
gwaquitgatsib 'foot', with a possessor John, John is evidentally
the ultimate direct object of (101), and it must have arrived at
that syntactic relation by advancement from indirect object: the
suffix -1ip on the verb of (101) marks advancement of indirect to-
direct object. Now, the only way for the possessor of a direct
object to become sn indirect object is by Possessor Union. Thus

the network for (101), ignoring the instrument ression, 1s (102),

102, teoyweitl-1ip
1l b .
2
B 2 qwaqwatqatsib
POSS
John

However, instances of Possessor Union with body part ex-
pressions 1is rare. .
The htem‘al form of the instrument expression in (101) s
interesting, in that the possessed nominal manifests the suffix
61
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=?1t, which we have previously seen to be associated with Possessor
Ascension, as well as with A&vance:nen: of direct o‘bjéc: to subject.
In fact, the typical way to ex.ptess a part-whole relationship, in
a context where Possessor Ascension (as well as, perhaps, Possessor
Union) is impossible, is with this form, i.e,: body part + suffix
=?It; encliticized determiner _°_a_q/ ik; eacliticized poséessor (in
the same form as for a subject). Some examples of such expressions
in isolation are givem ia (103).
103. wadigq 'throat!

wadd’t %aq s 'my throat® '

wad®’t Tk ‘your throat'

dits’® ‘nose’

dits’I%t %aq s 'my nose!

dits*i?% Ik 'your nose'

Yet another mode of expressing the part-whole relatfon exists
in Nitinaht, although it is not used as extensively by contemporary
speakers as was evidentally the case with earlfier generations, The
possessor of an initial direct object ascends, and the possessed
nominal incorporates into the verb, as a suffix, as in (104).

104. (a) Wik s quis?oyw John bobo-dk-o%p.

not 1 on purpose 2 Vl‘f/cm
*I didn't burn John's hand on purpose'
1 v 2 %
14t. 'I didan't hand-burn John on purpose’
2w 2
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104. (b) BobS-kwits’-awob’t s John
v/i/caus/Passvr 1 1
*John burned my fQot' 1it.
1 v 1 2 .
*1 was fogt-burned (b) John'
1 20y 1
(c) Bobo-dk-o?b't s John.
v/ 2 101
'John burned my hand’
1 v o1
14t. 'I was hand-burned (by) John'
1 v i
The possibility of Ascension/Incorporation also exists witi\
intransitive subjects {the causative morpheme is absent here):
105. (a) Bobo-kwits’l a?tl s.
V/i now/then 1
'I burned (my) foot'
1y 1
1it. 'I foot-burned’
1 1/v
(b) BobS-kwits’l a?tl ?a John.
v/1 1
‘John's foot got burmed', 1it.
*John foot-burned’

1 inw
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Incorporation as a suffix is not unique to body parts:
several locative expressions typically incorporate in this way,
especially in the speech of elder persoms; incorporation is less
exploited by younger speakers in general, apparently. In aay eveat,

incorporation in Nitinaht to be hat more restricted

overall than in the related languages to the north. However, I

cannot state the restrictions with any certainty.

3.3 Kinship

A kinship relation can be expressed by placing the possessor

nominal in front of the possessed nominal, and suffixing —okw to

the latter (106a); a pronominal possessor will encliticize (106b),

106. (a) WAhItl i x3da’ak’ictc %aq xatcibisiqgis-kw ?aq?
where Q little-girl brother
'Where is the little girl's brother?'
(b) Tcotcoxwats’awitl ?a John yadagk-kw ?aq 8.’
v 1 2 POSS
‘John tickled my child'
1 vV POSs 2
Possessor Union is possible im kinship expressions. In (107}
the possessor of the direct object has become the indirect object
by Possessor Union: then, because of the Chain~of-Being Hierarchy

constraint, it has advanced, via direct object, to ultimate subject.
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107. Tcoxwtcoxwats’awitl ?a?is-ib’t s John y3dagk.
- Lol
v _ Fut 11 3
*John tickled my child'
I v 1 2
1it. 'I vas tickled (by) John (on the) child?

-~ "
1 v 1 2
The networkx for (107) is:
108, tcoxwtcoxwats’awitl-ib’t

Apparently, kinship expressions also permit Possessor Ascension,
as in (109): here, thé possessed sufiix -ak is assigned ta the verb,
109. (a) Exts’iy-Zk ak yacagk?
vV / Poss Q/ 11
*Is your child coming?'
1 1
1it. 'Are you coming child?'
1ov 1

The transition from initial to ultimate syntactic relations

must be as 1 have here described. With an intransitive verd, oaly

the ultimate a:ubjec: can produce an nciit.‘.c form. Hence, the
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ultimate subject of (110a) must be ysyadaciy ‘childrgn', as shown

by the enclitic ?al "they'; in (110b), the ultimate subject 1s

instead g 'I'.

110. (a) Apt3 ?al yayadqiy-8k ?aq s.

®)

111, (a)

()

V they 1 POSS
"My children are hid:;xig"
POSS 1' V
AptE - k s yayadaqgiy.
v 11
"My children are hiding!
1 ; v
1it. 'I hide, children'
1V 1
The networks for (110a, b) are (1lla, b),
’ aptd S
|
yayadaqiy-ak -
' [poss -
S
aptg—k
1
1 1
yayadadiy

POSS

66
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